
������� � ���

�	
��
��� ������� ���� 
��������
(X, ∗) � ��� ���	� �� ��	� 
�
 !��

x0 =
(0, 0) � x1 = (0, 1) � x2 = (1, 0) � x3 = (1, 1) " # �����	 !��
��	 ��$ ���	� ��$
!��

a = (a1, a2)
�
b = (b1, b2) "

%&'&(& ) *+* , -. / 0. 1-23-
4.5167- 8 -937/
a ∗ b = (|a2 − 1|b2, |a2b2 − a1|)

%&'&(& ) *: * , -;<=> 8 /?@3A
B A376 31>3C
a∗b = (|a2b1−a1b2|, |a1b1−a2|)

%&'&(& ) *) * ,D?=>/ E >F1<3;
G F=6 1></
a ∗ b = (|a2b2 − b1|, |a1b1 − b2|)

%&'&(& ) *H * I 17C3<=>
036 3.. I3?7=6 =>3C
a ∗ b = (|a1 − b2|, a1b2)

%&'&(& ) *J * K/A 5=/ L=@@/</
B / M3. >/ N166 1O6/
a ∗ b = (|a2b1 − a1b2|, |a1a2 −
b1b2|)

%&'&(& ) *P * K6 1C?= B /<33.
I./Q3A 36 =>3C
a ∗ b = (|a2 − 1|b2, |a1b1 − a2|)

%&'&(& ) *R * S -<3=6 4A =6
T-39 Q1 8 /7-9 8 Q/ 0 =97/
a ∗ b = (|a2b1 − a1b2|, a1b2)

%&'&(& ) *U * 0 /?-1> K6 3F=6 3O
V6 W1>3C
a ∗ b = (|a2 − 1|b2, |a1b1 − b2|)

%&'&(& ) *X * 0 36 @/<=> 4<7=<
Y.1F=>3C
a ∗ b = (|a2 − 1|b2, a1b2)

%&'&(& ) *+Z * 8 /67D<=>
4<7=< G.W3C
a ∗ b = (|a2b2 − a1|, a1b2)

%&'&(& ) *++* 8 1. 19?= [ />1.
\ 3?=. /1>3C
a ∗ b = (|a1a2 − b1b2|, |a1 − b2|)

%&'&(& ) *+: * 8 3F1. 4-6 1-
T/-6 3<Q- T-?/9
a ∗ b = (|a2 − 1|b2, |a1b1 − b2|)

%&'&(& ) *+) * 8 3.; 1>/
4</@7/@3; M16 F11></
a∗b = (|a2−1|b2, |a1a2−b1b2|)

%&'&(& ) *+H * 8 =<7 1O6 -
S =/<Q3 L1A /?.-
a ∗ b = (|a1b1 − b2|, a1b2)

%&'&(& ) *+J * 8 =6 =?3</
E ?/7 16 3</ 4. 1?@/<Q6 =></
a ∗ b = (|a1 − 1|b1, |a1b1 − a2|)

%&'&(& ) *+P * [ 1Q6 - , 1O6/-
]<=?1
a ∗ b = (|a1 − b2|, |a1b1 − a2b2|)

%&'&(& ) *+R* L/2=6 >3<
4<Q6 1O B A376 31>3C
a ∗ b = (|a1 − b2|, a1b2)

%&'&(& ) *+U * N=<@1?/
4. 19/<Q6 1 Q- 0 /6A - [6/216 19
Q/
a∗b = (|a1a2−b1b2|, |a2b2−a1|)

%&'&(& ) *+X *
a ∗ b = (|a2 − 1|b2, |a2 − b1|)


